Rational Type Contraction in Consideration of Fixed-Point Theorems in b- Metric Spaces

Rohit Pathak

Assistant Professor, Applied Science Department, Institute of Engineering & Technology, DAVV, Indore, MP, India, E-Mail: rohitpathakres@yahoo.in

Article History: Received: 10 January 2020; Accepted: 30 September 2020; Published online: 13 January 2021.

Abstract. In this paper, we prove common fixed-point theorems in complete b-metric spaces using rational type contraction for two self-mappings. Our result improves and extends the results proved by Mlaiki et al. [1] for a single continuous self-mapping in extended complete b- metric space. We improve the results of Mlaiki et al. [1] to complete b-metric spaces for two self-mappings without assuming the continuity of any mapping.

AMS Mathematics Subject Classification. 47H10, 54H25.

Keywords: Fixed point, rational contractions, self-mappings, b-metric space.

DOI: https://doi.org/10.61841/turcomat.v12i1.14939

1. Introduction.

Banach [2] in demonstrated a highly consequential theorem in the context of complete metric spaces, establishing the existence of a unique fixed point. Since then, the fixed-point theory is one of the most important tools in many branches of science, economics, computer science, engineering and the development of nonlinear analysis.

As an extension of metric spaces, the concept of b-metric spaces was introduced by Backhtin [3]. Czerwik [4] first presented a generalization of Banach fixed point theorem in b-metric spaces. Mehmet et al. [5], Boriceanu [6], Bota [7], Pacurar [8] extended used this idea and proved fixed point theorems and its applications in b-metric spaces.

In this paper, we extend the results of Mlaiki et al. [1] and prove a common fixed-point theorem in complete b-metric spaces using rational type contraction for two self-mappings. Our result improves and extends the results proved by Mlaiki et al. [1] for a single continuous self- mapping in extended complete b-metric space. We improve the results of Mlaiki et al. [1] to complete b-metric spaces for two self-mappings without assuming the continuity of any mapping.

2. Preliminaries.

Definition 2.1 [3] Let X be a non empty set and $b \ge 1$ be a given real number. A function $d_b : X \times X \to [0, \infty)$ is called b-metric if it satisfies the following properties for each $x, y, z \in X - (b_1) d_b(x, y) = 0 \Leftrightarrow x = y;$ $(b_2) d_b(x, y) = d(y, x);$ $(b_3) d_b(x, z) \le b[d_b(x, y) + d_b(y, z)].$ The pair (X, d_b) is called a b-metric space.

Example 2.1. Let $X = l_p(R)$ with 0 , where

Corresponding Author: Rohit Pathak, E-Mail rohitpathakres@yahoo.in

Citation information: Rohit Pathak (2021), Rational Type Contraction in Consideration of Fixed-Point Theorems in b- Metric Spaces, Turkish Journal of Computer and Mathematics Education, Vol.12 No.01(2021), 995-1000. https://doi.org/10.61841/turcomat.v12i1.14939

$$l_p(R) = \{\{x_n\} \subset R : \sum_{n=1}^{\infty} x^p\}$$

Define $d_b: X \times X \to R^+$ as-

$$d_b(x,y) = \left(\sum_{n=1}^{\infty} |x_n - y_n|^p\right)^{1/p}$$

where $x = \{x_n\}, y = \{y_n\}$. Then (X, d_b) is a *b*-metric space with the coefficient $b = 2^{1/p}$.

Example 2.2. Let $X = L_p[0,1]$ be the space of all real functions $x(t), t \in [0,1]$ such that $\int_0^1 |x(t)|^p dt < \infty, 0 < p < 1$. Define $d_b : X \times X \to R^+$ as-

$$d_b(x,y) = \left(\int_0^1 |x(t) - y(t)|^p \, dt\right)^{1/p}$$

Then (X, d_b) is a *b*-metric space with the coefficient $b = 2^{1/p}$.

The above examples show that the class of b-metric spaces is larger than the class of metric spaces. When b = 1, the concept of b-metric space coincides with the concept of metric space.

Definition 2.2. [9] Let (X, d_b) be a b-metric space. A sequence $\{x_n\}$ in is said to be:

(I) Cauchy if and only if $d(x_m, x_n) \to 0$ as $n, m \to \infty$.

(II) Convergent if and only if there exist $x \in X$ such that $d(x_n, x) \to 0$ as $n \to \infty$ and we write $\lim_{n \to \infty} x_n = x$.

(III) The b-metric space (X, d_b) is complete if every Cauchy sequence is convergent.

3.Main Result.

Theorem 3.1. Let $S, T : X \to X$ be self-mappings with (X, d_b) be a complete b-metric space and for all distinct $x, y \in X -$

$$d_b(Sx, Ty) \le \xi_1 d_b(x, y) + \xi_2 \frac{d_b(x, Sx) d_b(y, Sx) + d_b(y, Ty) d_b(x, Ty)}{d_b(x, Ty) + d_b(y, Sx)}$$

where $d_b(x, Ty) + d_b(y, Sx) \neq 0, 0 < \xi_1 + \xi_2 < 1, \xi_1, \xi_2 \in [0, 1)$. Then S and T have a unique common fixed point in X.

Proof. Let $x_0 \in X$ be arbitrary and $\{x_n\}$ be a sequence in X such that

$$x_{n+1} = Sx_n, x_{n+2} = Tx_{n+1}.$$

Then

$$\begin{aligned} d_b(x_{n+1}, x_{n+2}) &= d_b(Sx_n, Tx_{n+1}) \\ &\leq \xi_1 d_b(x_n, x_{n+1}) + \xi_2 \frac{d_b(x_n, Sx_n) d_b(x_{n+1}, Sx_n) + d_b(x_{n+1}, Tx_{n+1}) d_b(x_n, Tx_{n+1})}{d_b(x_n, Tx_{n+1}) + d_b(x_{n+1}, Sx_n)} \\ &= \xi_1 d_b(x_n, x_{n+1}) + \xi_2 \frac{d_b(x_n, x_{n+1}) d_b(x_{n+1}, x_{n+1}) + d_b(x_{n+1}, x_{n+2}) d_b(x_n, x_{n+2})}{d_b(x_n, x_{n+2}) + d_b(x_{n+1}, x_{n+1})} \\ &= \xi_1 d_b(x_n, x_{n+1}) + \xi_2 d_b(x_{n+1}, x_{n+2}) \end{aligned}$$

which implies

$$d_b(x_{n+1}, x_{n+2}) \le \frac{\xi_1}{1 - \xi_2} d_b(x_n, x_{n+1})$$
$$= \xi d_b(x_n, x_{n+1})$$

where $\xi = \frac{\xi_1}{1-\xi_2} \in [0,1).$ Applying it recursively, we get-

$$d_b(x_{n+1}, x_n) \le \xi d_b(x_n, x_{n-1}) \le \xi^2 d_b(x_{n-1}, x_{n-2}) \le \cdots \dots \le \xi^n d_b(x_1, x_0).$$

for all n.

By triangular inequality, for any $m\geq 1$

$$\begin{aligned} d_b(x_n, x_{n+m}) &\leq b[d_b(x_n, x_{n+1}) + d_b(x_{n+1}, x_{n+m})] \\ &\leq bd_b(x_n, x_{n+1}) + b^2[d_b(x_{n+1}, x_{n+2}) + d_b(x_{n+2}, x_{n+m})] \\ &\leq bd_b(x_n, x_{n+1}) + b^2d_b(x_{n+1}, x_{n+2}) + b^3[d_b(x_{n+2}, x_{n+3}) + d_b(x_{n+3}, x_{n+m})].....\end{aligned}$$

Therefore

$$d_b(x_n, x_{n+m}) \le [b\xi^n + b^2\xi^{n+1} + b^3\xi^{n+2} + \dots \dots]d_b(x_0, x_1)$$

= $b\xi^n [1 + (b\xi)^2 + (b\xi)^3 + \dots \dots]d_b(x_0, x_1) = \frac{b\xi^n}{1 - b\xi} d_b(x_0, x_1)$

Therefore, we have

$$d_b(x_n, x_{n+m}) \le \frac{b\xi^n}{1 - b\xi} d_b(x_0, x_1)$$

As $n \to \infty$, we conclude that $\{x_n\}$ is a Cauchy sequence in complete b-metric space (X, d_b) . Hence there exists $x^* \in X$ such that-

$$\lim_{n \to \infty} x_n = x^*$$

Now to show that-

$$Sx^* = x^*$$

We have

$$\begin{aligned} d_b(Sx^*, x^*) &\leq b[d_b(Sx^*, Tx_{n+1}) + d_b(Tx_{n+1}, x^*)] \\ &\leq bd_b(x_{n+2}, x^*) + b\left[\xi_1 d_b(x^*, x_{n+1}) + \xi_2 \frac{d_b(x^*, Sx^*) d_b(x_{n+1}, Sx^*) + d_b(x_{n+1}, Tx_{n+1}) d_b(x^*, Tx_{n+1})}{d_b(x^*, Tx_{n+1}) + d_b(x_{n+1}, Sx^*)}\right] \\ &= bd_b(x_{n+2}, x^*) + b\left[\xi_1 d_b(x^*, x_{n+1}) + \xi_2 \frac{d_b(x^*, Sx^*) d_b(x_{n+1}, Sx^*) + d_b(x_{n+1}, x_{n+2}) d_b(x^*, x_{n+2})}{d_b(x^*, x_{n+2}) + d_b(x_{n+1}, Sx^*)}\right] \end{aligned}$$

As $n \to \infty$,

$$d_b(Sx^*, x^*) \le b\xi d_b(Sx^*, x^*)$$

which is a contradiction as $\xi \in [0, 1)$. Hence

 $Sx^* = x^*.$

Similarly, we can show

$$Tx^* = x^*.$$

Therefore S and T have a common fixed point in X i.e.

$$Sx^* = Tx^* = x^*.$$

To show uniqueness of the fixed point, let $z \neq x^*$ be another fixed point of S and T i.e.

$$Sz = Tz = z; Sx^* = Tx^* = x^*.$$

Then

$$\begin{aligned} d_b(z, x^*) &= d_b(Sz, Tx^*) \\ &\leq \xi_1 d_b(z, x^*) + \xi_2 \frac{d_b(z, Sz) d_b(x^*, Sz) + d_b(x^*, Tx^*) d_b(z, Tx^*)}{d_h(z, Tx^*) + d_h(x^*, Sz)} \\ &= \xi_1 d_b(z, x^*) + \xi_2 \frac{d_b(z, z) d_b(x^*, z) + d_b(x^*, x^*) d_b(z, x^*)}{d_b(z, x^*) + d_b(x^*, z)} \\ &= \xi_1 d_b(z, x^*). \end{aligned}$$

Since $\xi_1 \in [0, 1)$, we have $d_t(z, x^*) = 0$ i.e. $z = x^*$. This completes the proof.

Theorem 3.2. Let (X, d_b) be a complete b-metric space and $S, T : X \to X$ be self-mappings satisfying:

$$d_b(Sx, Ty) \le \alpha d_b(x, y) + \beta [d_b(Sx, y) + d_b(x, Ty)] + \gamma \frac{d_b(Sx, y)d_b(y, Ty) + d_b(Sx, x)d_b(x, Ty)}{d_b(x, Ty) + d_b(Sx, y)}$$

for all $x, y \in X$ and $\alpha, \beta, \gamma \in [0, 1)$ such that $0 < \alpha + \beta + \gamma < 1$. Then S, T have a unique common fixed point in X.

Proof. Let $x_0 \in X$ and $\{x_n\}$ be a sequence in X such that

$$x_{2k+1} = Sx_{2k}, x_{2k+2} = Tx_{2k+1}.$$

Then

$$\begin{split} d_b(x_{2k+1}, x_{2k+2}) &= d_b(Sx_{2k}, Tx_{2k+1}) \\ &\leq \alpha d_b(x_{2k}, x_{2k+1}) + \beta [d_b(Sx_{2k}, x_{2k+1}) + d_b(x_{2k}, Tx_{2k+1})] \\ &+ \gamma \frac{d_b(Sx_{2k}, x_{2k+1}) d_b(x_{2k+1}, Tx_{2k+1}) + d_b(Sx_{2k}, x_{2k}) d_b(x_{2k}, Tx_{2k+1})}{d_b(x_{2k}, Tx_{2k+1}) + d_b(Sx_{2k}, x_{2k+1})} \\ &= \alpha d_b(x_{2k}, x_{2k+1}) + \beta [d_b(x_{2k+1}, x_{2k+1}) + d_b(x_{2k}, x_{2k+2})] \\ &+ \gamma \frac{d_b(x_{2k+1}, x_{2k+1}) d_b(x_{2k}, x_{2k+2}) + d_b(x_{2k+1}, x_{2k+1}) d_b(x_{2k}, x_{2k+2})}{d_b(x_{2k}, x_{2k+2}) + d_b(x_{2k+1}, x_{2k+1})} \\ &= (\alpha + \gamma) d_b(x_{2k}, x_{2k+1}) + \beta d_b(x_{2k}, x_{2k+2}) \end{split}$$

Therefore

$$d_b(x_{2k+1}, x_{2k+2}) \le (\alpha + \gamma)d_b(x_{2k}, x_{2k+1}) + \beta b[d_b(x_{2k}, x_{2k+1}) + d_b(x_{2k+1}, x_{2k+2})]$$

Which implies

$$d_b(x_{2k+1}, x_{2k+2}) \le \frac{\alpha + \beta b + \gamma}{1 - \beta b} d_b(x_{2k}, x_{2k+1}) = h d_b(x_{2k}, x_{2k+1})$$

where $h = \frac{\alpha + \beta b + \gamma}{1 - \beta b} \in [0, 1)$. Applying it recursively, we get-

$$d_b(x_{n+1}, x_n) \le h d_b(x_n, x_{n-1}) \le h^2 d_b(x_{n-1}, x_{n-2}) \le \cdots \dots \le h^n d_b(x_1, x_0)$$

for all n. By triangular inequality for any $m \ge 1$

$$\begin{aligned} d_b(x_n, x_{n+m}) &\leq b[d_b(x_n, x_{n+1}) + d_b(x_{n+1}, x_{n+m})] \\ &\leq bd_b(x_n, x_{n+1}) + b^2[d_b(x_{n+1}, x_{n+2}) + d_b(x_{n+2}, x_{n+m})] \\ &\leq bd_b(x_n, x_{n+1}) + b^2d_b(x_{n+1}, x_{n+2}) + b^3[d_b(x_{n+2}, x_{n+3}) + d_b(x_{n+3}, x_{n+m})]...... \end{aligned}$$

Therefore

$$d_b(x_n, x_{n+m}) \le [bh^n + b^2 h^{n+1} + b^3 h^{n+2} + \dots]d_b(x_0, x_1)$$

= $bh^n [1 + bh + (bh)^2 + (bh)^3 + \dots]d_b(x_0, x_1) = \frac{bh^n}{1 - bh} d_b(x_0, x_1)$

Therefore, we have

$$d_b(x_n, x_{n+m}) \le \frac{bh^n}{1 - bh} d_b(x_0, x_1)$$

As $n \to \infty$, we conclude that $\{x_n\}$ is a Cauchy sequence in complete b-metric space (X, d_b) . Hence there exists $x^* \in X$ such that-

$$\lim_{n \to \infty} x_n = x^*$$

Now to show that

$$Sx^* = x^*.$$

We have

$$\begin{aligned} d_b(Sx^*, x^*) &\leq b[d_b(Sx^*, Tx_{2k+1}) + d_b(Tx_{2k+1}, x^*)] \\ &= b[d_b(x_{2k+2}, x^*) + d_b(Sx^*, Tx_{2k+1})] \\ &\leq b \begin{bmatrix} d_b(x_{2k+2}, x^*) + \alpha d_b(x^*, x_{2k+1}) + \beta[d_b(Sx^*, x_{2k+1}) + d_b(x^*, Tx_{2k+1})] \\ &+ \gamma \frac{d_b(Sx^*, x_{2k+1}) d_b(x_{2k+1}, Tx_{2k+1}) + d_b(Sx^*, x^*) d_b(x^*, Tx_{2k+1})}{d_b(x^*, Tx_{2k+1}) + d_b(Sx^*, x_{2k+1})} \end{bmatrix} \\ &= b \begin{bmatrix} d_b(x_{2k+2}, x^*) + \alpha d_b(x^*, x_{2k+1}) + \beta[d_b(Sx^*, x_{2k+1}) + d_b(x^*, x_{2k+2})] \\ &+ \gamma \frac{d_b(Sx^*, x_{2k+1}) d_b(x_{2k+1}, x_{2k+2}) + d_b(Sx^*, x^*) d_b(x^*, x_{2k+2})]}{d_b(x^*, x_{2k+2}) + d_b(Sx^*, x_{2k+1})} \end{bmatrix} \end{bmatrix}$$

As $k \to \infty$, we have

$$d_b(Sx^*, x^*) \le b\beta d_b(Sx^*, x^*)$$

 $Sx^* = x^*.$

 $Tx^* = x^*.$

which is a contradiction. Hence

Similarly we can show

$$Sx^* = Tx^* = x^*.$$

Therefore x^* is a common fixed point of S and T. To show uniqueness, let u^* be another fixed point of S and T such that

i.e.

Thus

$$Sx^* = Tx^* = x^*,$$

$$Su^* = Tu^* = u^*.$$

 $u^* \neq x^*$

We have

$$\begin{aligned} d_b(u^*, x^*) &= d_b(Su^*, Tx^*) \\ &\leq \alpha d_b\left(u^*, x^*\right) + \beta [d_b(Su^*, x^*) + d_b(u^*, Tx^*)] \\ &+ \gamma \frac{d_b(Su^*, x^*) d_b(x^*, Tx^*) + d_b(Su^*, u^*) d_b(u^*, Tx^*)}{d_b(u^*, Tx^*) + d_b(Su^*, x^*)} \\ &= \alpha d_b(u^*, x^*) + \beta [d_b(u^*, x^*) + d_b(u^*, x^*)] \\ &+ \gamma \frac{d_b(u^*, x^*) d_b(x^*, x^*) + d_b(u^*, u^*) d_b(u^*, x^*)}{d_b(u^*, x^*) + d_b(u^*, x^*)} \end{aligned}$$

which implies

$$d_b(u^*, x^*) \le (\alpha + 2\beta)d_b(u^*, x^*)$$

which is a contradiction as $\alpha + 2\beta < 1$. Therefore

$$u^* = x^*.$$

This completes the proof.

References

[1] N. Mlaiki, S. K. Shah and M. Sarwar, "Rational-type contractions and their applications in extended b-metric spaces," Results in Control and Optimization, vol. 16, pp. 1-11, 2024.

[2] S. Banach, "Sur les operations dans les ensembles abstraits et leurs applications aux equatins integrales. Fund Math," vol. 3, pp. 133-181, 1922.

[3] I. A. Backhtin, "The contraction mapping principle in almost metric spaces,," Funct. Anal., 30, Unianowsk, Gos. Ped. Inst., pp. 26-37, 1989.

[4] S. Czerwik, "Contraction mappings in b-metric spaces," Acta Mathematica et Informatica Universitatis Ostraviensis, vol. 1, pp. 5-11, 1993.

[5] M. Kir and H. Kiziltune, "On some well known fixed point theorems in b-metric space," Turkish journal of analysis and number theory, vol. 1, pp. 13-16, 2013.

[6] M. Boriceanu, "Fixed point theory for multivalued generalized contraction on a set with two bmetric," studia, univ Babes, Bolya: Math, vol. 3, pp. 1-14, 2009. [7] M. Bota, A. Molnar and C. Varga, "On ekeland's variational principle in b-metric spaces," Fixed Point Theory, vol. 2, no. 12, pp. 21-28, 2011.

[8] M. Pacurar, "Sequences of almost contractions and fixed points in b-metric spaces," Analele Universität de Vest, Timisoara, Seria Matematică Informatică, vol. 3, no. XLVIII, pp. 125-137, 2010.

 [9] U. Kadak, "On the Classical Sets of Sequences with Fuzzy b-metric.," Gen. Math. Notes , vol. 23, p. 2219–7184, 2014.